ERYE (RAEXI—X) EHAFAR FERK

PR 2942 H 7 H (K)TEEE (19:30~20:40, 70 77)
ERFEIA:

o BESNERICES L. BREENSEOSNIIZEZRE, HERTE, B
FBHEEEFSLBVZEDERBRSROTRE LBV, RADKRICHEREEFHT
SNTVWEWZ EHDHIBALIIZE S, AROFEWET 3.

o [FEIMR (AHE) 1AL, FHEHIRK 11, MR IR 1A
o FA, (REEHFOVWIThHOZFRBEL TWEIZEDHZERERDS.

o EFARLERHEDHDIETLUN, HEAHFATH 5. HFEE, AV—F
7 # Y EDOREHERIFERHRLY.

o FFUTH BT O TR DGR DRI L £ 9 2 & MOFP LEORT v
MCANZ ZERBRIET S,

o HUCXFENEPN TV EHE, 2 TUHT I L. W I EATERVGE, BB
ICHILINS 2 &, 2k, HERAl, BREPZEMDLT, INDEA, HRIEFETA
EHBTY.

o MHEDMAEIZ TN CHEEBROMEDMBEICEAT DI &. MBEIZLTHANITIL
D2l BHANOFEBIIHAL TRET 5. £/, BEREDEMIXRHEL
DT, OREIEZEZTIRETHZ L.

o HERABERICFERS, RAZHEAROFAEDH (2HF) ICKEATSRI L.
EHEICBRELBWESTH, I EAICOESERAZRATIIE. K& (7
WxR—=L) HBELBVWEDIFRRDOWNRN, BANBEARNIE 5 [iBRT 3.

o MIHICHOWFR/NIWE GREE 20D D DT L HEEREEZ D D IFRN D
WNRNET L. 7, BLIEDEI Do e @) M iciit 2 & D
TELXFIREEZR > THET 2 (= BRWICE A DD 72 01F 9 IR T 5).
Z O, FREFITE L B EH I N B ELE LN T .

o BPIRET 284, BEOIMCHIZ £ TIEIAGEZE S EEIET 5.

o BERAMZEVNIRIET I L. REVBLVYGE, ZOXEEIFOHRL 2%, &
BoY6, AT ERE SN 5. FEMR, SIEARKER M2 2 L.

o ZOMRIZ 110 FliRTH S, FHAlE L TEREEEZZOE ERME T2, F
IOV TIE OB EDORE (D FED 9 KM L) 2E/ L TOARZNRET
5 H[REED D 5 .



1.(10 K x2=20 i) RDIRKLHFIE ZGHEE X (BADATL ).
(1) ged(30,48),  (2) ged(493,1003).

2.(10 /i x2=20 K) RDOTF X2 7 TEY DM (2, y) 2 —MHE A L. Tz 7§
BROM (z,y) DAL BWEe, THELZZ ) EFHSZE (BADATLW).
(1) 3z — 6y = 2, (2) 172 — 36y = 1.

3.(10 ) 210 2 13 THI-> 7 L ZDRD %, 0,1,..., 11, 12D 5B (FZDATLW).

4.(10 i x2=20 1) B3 A, B%, A=1{1,2,3,4,5}, B={a,b} TEDS. A5 B~
DEMRIIETT (1) fl, A6 BNOENLZERIIEHT (2) fHbs. (1)
FOQ2) ICE) T2 ALK (BFEADATIN).

5.(10 i, HE?) 13 THAH L3R, 1T THZESRD L) BRBHE—ORkDK. 2
DL BEDPROEE, THEELEVL) EEZ X (BZOATIVL).

6.(15 K) 2% = 2 22U THMB « R L 2w L ZAlHE K. 2L, SFENIC
T2 L0 6) ELPELTOREWERL, LI LZEVRHATHS
R aDTorRET S, $7o, FREOEPEEETH 2 Z L2 VLA, 20803
B CTH S Z EZIEHL 2 WIRD | KIFICHN T 5.

7.(15 18) 7 2 BBAKROEA L L, A4 A, B, C 2 2NZHNKD L I ISED 5

A={neZnizacHivyinzgl,  B={necZnld6THDHYNZ},
C={necZnx12c#EHYIN3%}.

Bl Z I, —4 BB TH D, —4=4x (1) DX HIT —4 = 4x(BEH) OWICHIT 2D T,
—4eATHS. LDXIHITA B CREDILE,

ANB=C

Z R K.
EVb: ANBCOROC CANBZRE. fiZ2{E L Ciim L T\ 5 DD DSHHfEIC
%5 X)) ICEREHLTH L.

Lk

RERRREOAIIC
fREMMOREICFER S REDEFBZENDV W E 2R L T 23 v, [H#E
FHHE (AR EEFEAMUEEF B IR- T v, o, AR ER R VEHICLTL R
I\,



